SSFE R HIBY (IR R RO 2 TR Rl R

SR W LB 7 5 A L R LR T 10 57| 1P 4 b
2 2495 FURBEIGTL 6 4] o AN o =005 L EEH Miﬁﬁf&@my@
BIGRL, /7 AT TORIT: 2 (10%)

T SRR S SRR RES SR [y S AR HE
ﬁ[ 1,573 & 5 HERR[yp e

K %ﬂiﬁﬁﬁt Ay
TAYEEN S 1,101 755 582
T [EY S 409 676 818
=L 63142173

AP o =0.05 VETE AN LS DT H B LY ILERL A E T LY i 2
(10%)

= @B P [ ONE-WAY) IS (TWO-WAY YR 553 FT(ANOVA) VY
e (Null- Hypothesm)ﬁlﬂ ? R H PR E T 2 5%)

(ORI AR B A7l S ARDAE TR (TR K R b il 52
E7(Block)) = (5%)

O SIS A AR @B B TR B © (5%)

Agh [
FrET &
4 7 (Mean Square)

F {ii

B
3

0.18
4.86

[
2

0.21
5.68
Error



0.037

Tl

— =T
—_

1 B SO A A S
W1§§ﬂDependent Variable » Y) » ffi ™| LR A (Independent Variable » X) -
T n=10 {ENH

Sxx=(X-X)2=10.5, Y=1397 ,X=3.5
Sxy=(X-X)(Y-Y)=10.5
Syy=(Y-Y)2=1504.1

@%W%# PRI PR o (5%)
(b)éﬁ# '5153[7%\7(‘7 )95%|f[ﬂ-°%fEﬁF 1 (Confidence Interval) = (5%)
(c)[ﬂ%—«(b) /A s R R ORL NREE - (5%)

T S OB e AR IR B TR S W AT "iﬁ
I CRORI 1) S It i (> SR A - i S9RIEd 2
| ﬁzﬂﬁ\p%ﬁ%gﬁ ? (10%)

o HREGHE R B VORI H iy =500 > 0 =100 - ¥ R
fET 20 SR RYAE 3R

(- B U STEEA R 30552 675 55 IV EPOESER 2 (5%)

LA 20 5 1 S5 B 250 55 VB 2 (5%)

yp;mw{gl%@vﬁg’rﬁfﬁzﬁpﬂ 15% %% E‘Hi/ll’ﬁﬁfﬂtﬂ*ﬁa&wfm“ ? (5%)
SRR B '/E*]é;‘% » F§-40 B BRIV
FIH 52 £ wJﬁ%E %ﬁiﬁnﬁ w 153 JE*] TR KL 3.8 R L 27
S B P 3R HA@;I (e Y]

u\l&

A I*UEP H@F‘ E@EJQ{TE'%%IHWEFJ (5%)

R HJEI@F‘ [eilr] 3 - HJ_FJ/,F*WJEJ%%IF P ] o (5%)

lﬁi%‘rﬂﬁﬁh FH@ [Tl 3 I BV PR P WP Y 95%[’%%@. [l
ME B ;'15”+0035 PRSI B BVERRE 2 (5%)

@% <R O T I;EIIHH\%%O% TEFE e 45
,Jﬁ%? R ﬁ}ﬂléxbﬁ’“‘ r@}fuﬁw > 90%: #@Hﬂ fSb S5
BRI O B Tk fUE ] 80% - #ETIPH%;J!%&@W& > ﬁ

I@HU;&II VESFLLE 2 (10%)



SSEER [ (AFBIESY PR I SRE R R

— ~The accountant for the Enlight Company prepared the following depreciation schedules
for a car with a five year useful life.

Year

straight-line
Declining-Balance Sum-of-the
Years' -Digits

1

$12,000
$26,000
$20,000

2

$12,000
$15,600
$16,000

Instructions:
(a) Answer the following questions:

If Enlight 1s using the double-declining balance rate, what is the cost of the car ?
What is the salvage value, if any, of the car ?

What SYD fraction was used in each year ?

(b) Compute the depreciation for Year 3 under each depreciation method.

(c) Which method produces the largest depreciation in Year 3 ? Which method shows the
highest book value at the end of Year 3 ?

(d) Assume the car cost $70,000 and had an estimated four-year life. If straight-line
depreciation in Year 3 is $16,000, what is the estimated salvage value, if any ?

(e) Using the assumptions in (d), above, compute depreciation for Years land 2 under both
the double-declining balance and SYD methods.
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= ~ Culture Company has the following securities in its short-term portfolio of marketable
equity securities on December 31, 1995:

Cost
Market

1,500 shares of General Motors, Common $75,000
$69,000



5,000 shares of GTE, Common 180,000
175,000

400 shares of CBS, Preferred 60,000
61,600

$315,000
$305,000

All of securities were purchased in 1995.

In 1996, Culture completed the following securities transactions:

March 1 Sold 1,500 shares of General Motors, Common, @$45 less fees of $1,200.
April 1 Bought 700 shares of Dow Chemical, Common, @$75 plus fees of $1,300.

August 1 Transferred the CBS, Preferred, from the short-term portfolio to the long-term
portfolio when the stock was selling at $145 per share.

Culture Company’ s short-term portfolio of marketable equity securities appeared as
follows on December 31, 1996:

Cost
Market

5,000 shares of GTE Common $180,000
$205,000

700 shares of Dow Chemical, Common 53,800
50,400

$233,800
$255,400

Instruction:

Prepare the general journal entries for Company for:



(a)The 1995 adjusting entry. (6%)
(b)The sale of the GM stock. (6%)

(¢)The purchase of the Dow Chemical stock. (6%)

(d)The transfer of the CBS stock from the short-term to the long-term portfolio. (6%)

(e)The 1996 adjusting entry for the short-term portfolio. (6%)
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